T

[Omean p [GeV]

Ratio to ATLAS

13000 GeV pp | Unlderllyingl Event

S T T T T2
c
B lead 1o
Average pT VS pT (In| < 2.5, p.>05GeV,p >1 GeV) E
_ m ATLAS 18
41— 8 Herwig 7.2.1 default N
| —&— Pythia 8.308 default =
L ¢ Sherpa 2.2.2 default 45
- -3
=
- e
3 I N
- 1@
™
—<
(40
—©
o
— ™M
—
.=
X
T,
e
1O
S
1 O
Q
B 1 wn
o 1o
o
- (@]
a | | | | | | | ' | | | | | | | | E
: T T T T | T T T T | T T T T |:
2 & =2
- o .
— L4 b ! PR TR ;% |
1 ———————————— v 1
0.5 —0.5
1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1

. |
0 10 20 30
p'Tead [GeV]



	Contents
	Page 1


